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Note : This paper is of eighty (80) marks containing three 

(3) sections. Learners are required to attempt the 

questions contained in these sections according to 

the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu [k.Mksa esa fn, x, 

foLr`r funsZ’kksa ds vuqlkj gh iz’uksa dk p;u djuk gSA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Discuss the development of literature during the 

Renaissance. 

iqutkZxj.k dky ds lkfgR; esa gq, fodkl ij ppkZ dhft,A  

2. Shed light in the causes of the French revolution. 

Ýkal dh ØkfUr ds dkj.kksa ij izdk’k Mkfy,A 

3. Write a short note on the Unification of Germany. 

teZuh ds ,dhdj.k ij ,d laf{kIr fVIi.kh fyf[k,A 

4. Discuss the causes of the Second World War. 

f}rh; fo’o;q) ds dkj.kksa ij ppkZ dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Martin Luther.  

ekfVZu ywFkjA  

2. Industrial Revolution. 

vkS|ksfxd Økafr  

3. Boston Tea Party. 

cksLVu Vh ikVhZA 

4. Continental Policy of Napoleon. 

usiksfy;u dh egk}hih; O;oLFkkA 

5. Mussolini 

eqlksfyuh  

6. Crimean War 

Øhfe;k dk ;q) 

7. Facism. 

QkalhoknA  

8. United Nations 

la;qDr jk”Vª la?k  



 [ 4 ] HI–06 

 (B-72)  

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write a True/False : 

lR;@vlR; fyf[k, % 

1. Pope was the chief of the Christian religion. 

bZlkbZ /keZ dk izeq[k iksi gksrk FkkA 

2. Immediate cause of the reformation was the selling of 

indulgences. 

/keZlq/kkj vkUnksyu dk rRdkfyd dkj.k iki ekspu i=ksa dh 

fcØh FkhA 

3. Martin Luther was born in a poor peasant family of 

France. 

ekfVZu ywFkj Ýkal ds xjhc fdlku ifjokj esa iSnk gqvk FkkA 

4. Anglican Church was founded in Spain. 

,afXydu ppZ dh LFkkiuk Lisu esa gqbZA 

Fill in the blanks : 

fjDr LFkkuks dh iwfrZ dhft, % 

5. Napoleon was born at a placed called ............. . 

usiksfy;u dk tUe ------------------- uked LFkku ij gqvk FkkA 
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6. The writer of ‘The Spirit of Laws’ is ........... . 

^n fLifjV vkWQ ykWt* ds ys[kd ---------------------gSA 

7. The writer of ‘Social Contract’ is ............. . 

^lks’ky dkaVªSDV* ds ys[kd --------------------- gSaA 

8. The downfall of Bastille was on .................. July. 

ckLrhy dk iru -------------------- tqykbZ ---------------- dks gqvk FkkA 

9. The start of Renaissance is considered from the 

year........ . 

iqutkZdj.k dk izkjEHk lu~ -------------------- ls ekuk tkrk gSA 

10. ‘The compilation of my code shall be more permanent 

then my victories.’ Who said ? 

^esjs dkuwuksa dk laxzg esjh fot;ksa ls vf/kd LFkk;h jgsxkA* 

fdlus dgk Fkk \ 
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